
Consider the configuration of three concentric spherical capacitors as shown in the figures below. Please explain 
your reasoning when answering the following questions

a) In the figure to the left, in a) the concentric conducting spheres have inner radii "a" and outer radii "b" with the 
region between the spheres a vacuum. Fint the capacitance of the configuration

c) In the figure on the left, find the total capacitance if now the dielectric material fills up the upper hemisphere of 
the space between the spheres as shown. The capcitance of the dielectric material is k. 

b) In the figure on the left a dielectric material with constant k fills up the volume between the spheres up to radiu 
(a+b)/2. Find the total capacitance of the configuration of spheres


